y |0 —4|-566| —693| —8

The domain is x = 0 and the range is y < 0.

f(x) = 3Vx

X 0] 1 2 3 |4

fix)[0]05]071 087 |1

The domain is x = 0 and the range is f(x) = 0.




y | O |—08: |—113 | =139 | =16

The domain is x = 0 and the range is y < 0.

y=—6\/;

x|0] 1 | 2 3 -+

y 0] 6| —849| —1039| —12

The domain is x 2 0 and the range is y < 0.




— ! X

The domain is x = 0 and the range is y = 0.

2(x) = 9Vx

X 0f 1 2 3 -+

gix) |0] 9 (1273|1559 | 18

= ! X

The domain is x = and the range is g(x) = 0.
D;

y=—3Vx

x |0 1 2 3

¥ | O|=15]=212| =26 | =3




y | —032]-025(0]025] 0.3l

10. ¥

The domain and range are all real numbers.

y=2\J/;

X =2 | —=k| 0] 2

y | =252 | =2|0]|2| 252

11.

-—

The domain and range are all real numbers.




120 1]

The domain and range are all real numbers.

13~
h(x) = —7\/x

X =2 | =110 1 2

hix) | 0.18 10.14 [ 0| —0.14 | —0.18

The domain and range are all real numbers.




glx) | =756 | =6 |0|6]7.56

L]
-

The domain and range are all real numbers.

3

y =gV

hix) | =098 | —0.78 | 0] 0.78 [ 0.98

The domain and range are all real numbers.




